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Prelims test series
Transfer of Property,Constitution of India-6

1)The authorization for the withdrawal of funds from the- Consolidated Fund of India
must come from:

(a) The President of India

(b) The Parliament of India

(c) The Prime. Minister of India

(d) The Union Finance, Minister
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2)All revenues received by the Union. Government by way of taxes and other receipts for
the conduct of Government business are credited to the:

(a) Contingency Fund of India

(b) Public Account

(c) Consolidated Fund of India

(d) Deposits and Advances Fund
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3)Under the Constitution of India, which one of the following is not a fundamental duty?
(a) To vote in public elections

(b) To develop the scientific temper

(c) To safeguard public property

(d) To abide by me Constitution and respect its ideals
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4)The Prime Minister of India, at the time of his/her appointment:?

(a) need not necessarily be a member of one of the Houses of the Parliament but must become
a member of one of the” Houses within six months

(b) need not necessarily be a member of one of the Houses of the Parliament but must become
a member of the LokSabha within six months

(c) must be a member of one of the Houses of the Parliament

(d) must be a member of the LokSabha
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5)According to the Constitution of India, it is the duty of the President of India to cause to
be laid before the Parliament. Which of the following?

1-The Recommendations of the Union Finance Commission
2-The Report of the Public Accounts Committee

3-The Report of the Comptroller and Auditor General

4-The Report of the National Commission for Scheduled Castes
Select the correct answer using the codes given below ?

(a) 1 only

(b) 2 and 4 only

(c) 1, 3 and 4 only

(d)1,2,3and 4
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6)Which of the following is/are among the Fundamental Duties of citizens laid down in
the Indian Constitution?

1-To preserve the rich heritage of our composite culture

2-To protect the weaker sections from social injustice

3-To develop the scientific temper and spirit of inquiry

4-To strive towards excellence in all spheres of individual and collective activity
Select the correct answer using the codes given below ?

(a) 1 and 2 only

(b) 2 only

(c) 1, 3 and 4 only

(d)1,2,3and 4
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7)What is the provision to safeguard the autonomy of the Supreme Court of India?
1-While appointing the Supreme Court Judges, the President of India has to consult the
Chief Justice of India.

2-The Supreme Court Judges can be removed by the Chief Justice of India only.

3-The salaries of the Judges are charged on the Consolidated Fund of India to which the
legislature does not have to vote.

4-All appointments of officers and staff of the Supreme Court of India are made by the
Government only after consulting the Chief Justice of India.

Which of the statements given above is/are correct?

(a) 1 and 3 only

(b) 3 and 4 only
(c) 4 only
(d)1,2,3and 4
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8)The distribution of powers between the Centre and the States in the Indian Constitution
is based on the scheme provided in the?

(a) Morley-Minto Reforms, 1909

(b) Montagu-Chelmsford Act, 1919

(c) Government of India Act, 1935

(d) Indian Independence Act, 1947
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9)Consider the following provisions under the Directive Principles of State Policy as
enshrined in the Constitution of India :

1-Securing for citizens of India a uniform civil code

2-Organizing village Panchayats

3-Promoting cottage industries in rural areas

4-Securing for all the workers reasonable leisure and cultural opportunities
Which of the above are the Gandhian Principles that are reflected in the Directive
Principles of State Policy?

(a) 1, 2 and 4 only

(b) 2 and 3 only

(c) 1, 3 and 4 only

(d)1,2,3and 4
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10)Consider the following statements:

1-Union Territories are not represented in the RajyaSabha.

2-It is within the purview of the Chief Election Commissioner to adjudicate the election
disputes.

3-According to the Constitution of India, the Parliament consists of the LokSabha and the
RajyaSabha only.

Which of the statements given above is/are correct?

(a) 1 only

(b)2and 3

(c)1and 3

(d) None
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11)Regarding the office of the LokSabha Speaker, consider the following statements:
1-He/She holds the office during the pleasure of the President.

2-He/She need not be a member of the House at the time of his/her election but has to
become a member of the House within six months from the date of his/her election.
3-If he/she intends to resign, the letter of his/her resignation has to be addressed to the
Deputy Speaker.

Which of the statements given above is /are correct?

(a) 1 and 2 only

(b) 3 only

(c)1,2and 3

(d) None
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12)Which of the following are included in the original jurisdiction of the Supreme Court?
1-A dispute between the Government of India and one or more States

2-A dispute regarding elections to either House of the Parliament or that of Legislature of
a State

3-A dispute between the Government of India and a Union Territory

4-A dispute between two or more States

Select the correct answer using the codes given below :

(a)1and 2

(b) 2 and 3

(c)1and 4

(d)y3 and 4
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13)which of the following special powers have been conferred on the RajyaSabha by the
Constitution of India?

(a) To change the existing territory of a State and to change the name of a State

(b) To pass a resolution empowering the Parliament to make laws in the State List and to create
one or more All India Services

(c) To amend the election procedure of the President and to determine the pension of the
President after his/her retirement

(d) To determine the functions of the Election Commission and to determine the number of
Election Commissioners
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14)Which of the following provisions of the Constitution of India have a bearing on
Education?



1-Directive Principles of State Policy

2-Rural and Urban Local Bodies

3-Fifth Schedule

4-Sixth Schedule

5-Seventh Schedule

Select the correct answer using the codes given below :
(a) 1 and 2 only

(b) 3, 4 and 5 only

(c) 1,2 and 5 only

(d)1,2,3,4and 5

15)What will follow if a Money Bill is substantially amended by the RajyaSabha?
(a) The LokSabha may still proceed with the Bill, accepting or not accepting the
recommendations of the RajyaSabha

(b) The LokSabha cannot consider the Bill further

(c) The LokSabha may send the Bill to the RajyaSabha for reconsideration

(d) The President may call a joint sitting for passing the Bill
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16)Which one of the following statements is correct?

(a) In India, the same person cannot be appointed as Governor for two or more States at the
same time

(b) The Judges of the High Court of the States in India are appointed by the Governor of the
State just as the Judges of the Supreme Court are appointed by the President

(c) No procedure has been laid down in the Constitution of India for the removal of a Governor
from his/her post

(d) In the case of a Union Territory having a legislative setup, the Chief Minister is appointed by
the Lt. Governor on the basis of majority support.
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17)Consider the following statements?

1-An amendment to the Constitution of India can be initiated by an introduction of a bill
in the LokSabha only.

2-If such an amendment seeks to make changes in the federal character of the
Constitution, the amendment also requires to be ratified by the legislature of all the
States of India.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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18)Which of the following bodies does not/do not find mention in the Constitution?
1-National Development Council

2-Planning Commission

3-Zonal Councils

Select the correct answer using the codes given below ?

(a) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d)1,2and 3
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19)The Parliament can make any law for the whole or any part of India for implementing
international treaties ?



(a) with the consent of all the States
(b) with the consent of the majority of States
(c) with the consent of the States concerned
(d) without the consent of any State
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20)‘Economic Justice’ the objectives of the Constitution has been as one of the Indian
provided in ?

(a) the Preamble and Fundamental Rights

(b) the Preamble and the Directive Principles of State Policy

(c) the Fundamental Rights and the Directive Principles of State Policy

(d) None of the above
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21)According to the Constitution of India, which of the following are fundamental for the
governance of the country?

(a) Fundamental Rights

(b) Fundamental Duties

(c) Directive Principles of State Policy

(d) Fundamental Rights and Fundamental Duties
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22)Consider the following statements:

1-The Council of Ministers in the Centre shall be collectively responsible to the
Parliament.

2-The Union Ministers shall hold the office during the pleasure of the President of India.
3-The Prime Minister shall communicate to the President about the proposals for
Legislation.



Which of the Statements given above is/are correct?
(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3
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23)Which of the following are the discretionary powers given to the Governor of a State?
1-Sending a report to the President of India for imposing the President’s rule
2-Appointing the Ministers

3-Reserving certain bills passed by the State Legislature for consideration of the
President of India

4-Making the rules to conduct the business of the State Government

Select the correct answer using the code given below.

(a)1 and 2 only

(b)1 and 3 only

(c)2, 3 and 4 only

(d1,2,3and 4
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24)Which one of the following Schedules of the Constitution of India contains provisions
regarding anti-defection?

(a)Second Schedule
(b)Fifth Schedule



(c)Eighth Schedule
(d)Tenth Schedule
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25)The power of the Supreme Court of India to decide disputes between the Centre and
the States falls under its ?

(a)advisory jurisdiction

(b)appellate jurisdiction.

(c)original jurisdiction

(d)writ jurisdiction
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26)The power to increase the number of judges in the Supreme Court of India is vested
in?

(a)the President of India

(b)the Parliament

(c)the Chief Justice of India

(d)The Law Commission
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27)In the Constitution of India, promotion of international peace and security is included
in the?

(a)Preamble to the Constitution

(b)Directive Principles of State Policy

(c)Fundamental Duties

(d)Ninth Schedule
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28)The Constitution (Seventy-Third Amendment) Act, 1992, which aims at promoting the
Panchayati Raj Institutions in the country, provides for which of the following?
1-Constitution of District Planning Committees.

2-State Election Commissions to conduct all panchayat elections.

3-Establishment of State Finance Commissions.

Select the correct answer using the codes given below?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d)1,2and 3
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29)The National Green Tribunal Act, 2010 was enacted in consonance with which of the
following provisions of the Constitution of India?(2012)

1-Right to healthy environment, construed as a part of Right to life under Article 21
2-Provision of grants for raising the level of administration in the Scheduled Areas for the
welfare of Scheduled Tribes under Article 275(1)

3-Powers and functions of Gram Sabha as mentioned under Article 243(A)

Select the correct answer using the codes given below ?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3
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30)Which of the following is/are the exclusive power(s) of Lok Sabha?
1. To ratify the declaration of Emergency

2. To pass a motion of no-confidence against the Council of Ministers
3. To impeach the President of India

Select the correct answer using the code given below:?

(a) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d) 3 only

30)FF T F & HiT &Y ipgaT T oy afed g/82
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31)With reference to the writs, issued by the Courts in India, consider the following
statements:

1. Mandamus will not lie against a private organisation unless it is entrusted with a public
duty.

2. Mandamus will not lie against a Company even though it may be a Government
Company.

3. Any public minded person can be a petitioner to move the Court to obtain the writ of
Quo Warranto.

Which of the statements given above are correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

d)1,2and 3
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32)What is the position of the Right to Property in India?
a) Legal right available to citizens only

b) Legal right available to any person

¢) Fundamental Right available to citizens only

d) Neither Fundamental Right nor legal right

32)H R & TURT o AR Fr Far Tafa g2
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33)What was the exact constitutional status of India on 26th January, 19507
a) A Democratic Republic

b)A Sovereign Democratic Republic

c)A Sovereign Secular Democratic Republic

d) A Sovereign Socialist Secular Democratic Republic

33)26 STeTadl 1950 HT HRd hI AEATAh HatTTeleh eUT 4T 21?2
T) Th cliehdif3eh VRIS

ST Y3 eNehcl {3k IVRISY
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34)'Right to Privacy' is protected under which Article of the Constitution of India?
(a)Article 15

(b)Article 19

(c)Article 21

(d) Article 29

34)" STl 1 TR 3R o HidHTeT o ol 3eTeese o dgo TXiard 82
T) 3T 15
aT) 3teeise 19
T )3T 21
Sn)3teTee 29



35)A legislation which confers on the executive or administrative authority an unguided
and uncontrolled discretionary power in the matter of application of law violates which
one of the following Articles of the Constitution of India?

(a) Article 14

(b) Article 28

(c)Article 32

(d)Article 44

35)Tdh hlelsl il HIRIBRT AT TRATHTAH HITEHRT T hlsfsd o] el & HHA H AfAGRIT 31T
SRR fadeeieT A YeTe ear 2, %W%Wﬂ%ﬁmﬁmﬂﬁmmw
mam%?

(T) 3T 14
(a1) 3reTeee 28
@ mc—&-mz
(-s‘?r)amn—z}am

36)Which one of the following categories of Fundamental Rights incorporates protection
against untouchability as a form of discrimination?

(a) Right against Exploitation

(b)Right to Freedom

(c)Right to Constitutional Remedies

(d) Right to Equality

36)FlTeieh 3TTRIRRT T [e=iTed AT0TAt & & ieT €1 A0 H HeHTd o T H 3EGRIAT & WeTh
& Al 82

( T) NYOT & fa%eys HfUHR

( )me

(€T TR 1 TR

(3N) FATAT T ATPR

37)In India, separation of judiciary from the executive is enjoined by ?
(a) the Preamble of the Constitution

(b)a Directive Principle of State Policy

(c)the Seventh Schedule

(d) the conventional practice

37)ARd H FATITTToIhT T HRIATTOIRT T eI del T TG fhdeh GaRT & I §2
(T) TTIEITT T SEcTa=lT
o) I AT 1 g Regnd



38)Other than the Fundamental Rights, which of the following parts of the Constitution of
India reflects the principles and provisions of the Universal Declaration of Human Rights
(1948)?

1. Preamble

2. Directive Principles of State Policy

3. Fundamental Duties

Select the correct answer using the code given below?

(a)1 and 2 only

(b)2 only

(c)1 and 3 only

(d)1,2and 3

38)A oI 1TSRT & 3TeTdT, IR & Tl o7 AFATA@d & F Pl IT AT AT 3P RT FHr
ATaHIA S9oT (1948) & fAcHTdr 3R Jraerm=i & gfafdfaa Hxarg?

1. GEATdeA

2. U & A foidere Resrd

3. Aifors e

ATl T 91T IS T 3TN Feh HET 3K Yol ?

(T)ehder 1 3K 2

(sY)hdel 2

(@)hae 1311 3

@N1,2 3R 3

39)Which part of the Constitution of India declares the ideal of a Welfare State?
(a)Directive Principles of State Policy

(b)Fundamental Rights

(c)Preamble

(d) Seventh Schedule

39)HRd & HTAHTT T hisT AT HTIT Ueh FHoATUTRRT I T 3TELT BN AT 572

(V) T & A [Acers fagurda

CUGUGEREICEIES

(E)TEATIAT

(&) Treret SR

40)With reference to the provisions contained in Part IV of the Constitution of India,
which of the following statements is/are correct?

1. They shall be enforceable by courts.

2. They shall not be enforceable by any court.

3. The principles laid down in this part are to influence the making of laws by the State.
Select the correct answer using the code given below ?

(a)1 only

(b)2 only

(c)1 and 3 only



(d) 2 and 3 only

40)3TRd & Figee & H19T IV & AR Traum=i & dedf 7, Feafaf@a #§ & sia ana a1 T
e/e?

1. 3 3Tl GaRT Yo giav|

2. 3 FordT off =IITaI GaRT Yade i STel gidl|

3. 38 19T H AUTRT AT T GaRT Hlefel Fellel shi FeTTAT el & Tl 2

AT T 91T I T 3TN FXeh Hel 3R Gof ?

(T)ehdeT 1

(@)aFae 2

(@)hae 1311 3

@) FaT 2 3R 3

41)With reference to the Constitution of India, consider the following statements?
1. No High Court shall have the jurisdiction to declare any central law to be
constitutionally invalid.

2. An amendment to the Constitution of India cannot be called into question by the
Supreme Court of India..

Which of the statements given above is/are correct?

(a) 1 only

(b)2 only

(c)Both 1 and 2

(d) Neither 1 nor 2

41)9Rd & AT & Tedf H A foild HU«T W [aaR L2

1. ol 8ff 3ea saraTer @t foREl A el @l HdeTflss ®9 & 3 ST e & 31fRsR e
g

2. AR & FiaYTT # FATUH W AR & HaTod sATATeI GaRT 92T SIgT SOIAT I FehelT o |

FW ST 3T HYUAT H & FiT T/ Tl ele?

(T) e 1

(&yaraet 2

@1 3R 2 =t

@EnFar133IRAEr2

42)Regarding Money Bill, which of the following statements is not correct?

(a) A bill shall be deemed to be a Money Bill if it contains only provisions relating to imposition,
abolition, remission, alteration or regulation of any tax.

(b)A Money Bill has provisions for the custody of the Consolidated Fund of India or the
Contingency Fund of India.

(c)A Money Bill is concerned with the appropriation of moneys out of the Contingency Fund of
India.

(d) A Money Bill deals with the regulation of borrowing of money or giving of any guarantee by
the Government of India.



42)41 a9 & Ty # Reafaf@d & & S a1 Fue T8 T8 &7

(T) Teh fa8Teh &t TA8Teh AT ST e, SHA shael Tehdll T &l ST, FATCH A, Fe &,
aRadet a1 fafase & geaferd graes anfad

(&) oot [T H 7R 1 ST AT a1 AR 61 3menfEas e T 31t s yraure |

(@) g7 TTITF AR Y ITHRASR A & o= & Tl ¥ Fefa g

(2N &7 VTR HRA THR EIRT Ul FUR e IT g IR & & RAfAgAeT F Fafera &

43) Which one of the following reflects the most appropriate relationship between law
and liberty?

(a) If there are more laws, there is less liberty.

(b)If there are no laws, there is no liberty.

(c)If there is liberty, laws have to be made by the people.

(d) If laws are changed too often, liberty is in danger.

43) AT H @ leT AT Hlefel AR TIATA & el Fol TGl HLT Y SATAT 62
(T) TTE 31T el &, Al FGATAT HHA B

(a) fe IS FIeeT AGT &, A FIS TIAAAT 6T &

(@)afe FEATAT &, Tl hlefel AN Al SATeAT FraT|

(31) T PIeeT TET IR Seel ST &, A FAATAT T H &

44)Which of the following are regarded as the main features of the "Rule of Law"?
1. Limitation of powers

2. Equality before law

3. People's responsibility to the Government

4. Liberty and civil rights

Select the correct answer using the code given below:

(a) 1 and 3 only

(b)2 and 4 only

(c)1, 2 and 4 only

(d)1,2,3and 4

44)AFATTET H § TohaY "leeT o ATHA" T AL [IAYATT HTAT ST &2
1. T T HIAT

2. fafer & |#HET FHATAT

3. THR & i oliel T AT

4. TqAFT AR AT ARFR

AT f&T 91T IS o1 SUANT Fleh Hel 3T Yol

(T) Fhaol 1 3R 3

(s)haer 2 3R 4

@)Fad 1, 2 3R 4

@1, 2,334

45) If the President of India exercises his power as provided under Article 356 of the
Constitution in respect of a particular State, then?

(a) the Assembly of the State is automatically dissolved.



(b) the powers of the Legislature of that State shall be exercisable by or under the authority of
the Parliament.

(c) Article 19 is suspended in that State.

(d) the President can make laws relating to that State.

45) ITE R 1 Teguict fohelt FaRy T & Haer & AiAUTel & 3eJeoe 356 & dga Yal &l a1s
39T ATFA FT TAT FAT &, AT?

(T) T T FAUTAHHT Fa: T &Y STl 8

( )mw%ﬁmﬁ@ram&«q@mmsa%@m?aﬁmﬁml
() 37TeDe 19 30 AT A Acfad &
(?f)ﬂ“?qﬁqu}lmﬁwddmﬂqul%l

46)Section 44 of the Transfer of Property Act, 1882, deals with:/@9fT 3iaxoT 3f&faT#, 1882
T 4T 44, W T &

(a) transfer by two co-owner/al Hg-HATfcolehl GaRT 30T

(b) transfer by one co-owner/Tesh Hg-Hlfoleh GaRT 30T

(c) transfer by 3 co-owners/3 Hg-HATfeleT CaRT 3707

(d) transfers by all co-owners./a#T Te-Aferst SR 30T

47)When one of several co-owners transfers his share, the transferee acquires as against
the other co-owners the same rights that of transferor had but is subject to any condition
and liabilities affecting the share at the date of transfer. This is the provision under:/ssl
g Hg-HTToIeh! 7 H IS Teh 3T REAT AR AT &, Tl AR 3T TE-HTTolehl oh Hehlael TET
SHTIHR IO T ST ¥ ST 3eRUTehaT 3 GTE 20T, AfeheT a7 7 ff OX Q2 Y T ey arely
T ofr o1t 31X STt & 31efieT BT &1 3T 37deTd g WIael &:

(a) section 40 of the Transfer of Property Act, 1882/84fT 37dxoT 3ifaf1T%T, 1882 Fr URT 40

(b) section 41 of the Transfer of Property Act, 1882/@9T 30T AT, 1882 ahT &IRT 41

(c) section 42 of the Transfer of Property Act, 1882/a9f 3iaRoT 3ifaifaeT, 1882 Fr URT 42

(d) section 44 of the Transfer of Property Act,1882/@9fT 37X 0T 3TaTT#H, 1882 T &IRT 44

48) The provision for the joint transfer for consideration is dealt in:/FfcIthel FJeFcl T ST
I 30 T &:

(a) section 45 of the Transfer of Property Act, 1882/ @Y &R oT AT, 1882 Fr UnT 45
(b) section 46 of the Transfer of Property Act, 1882/F9fT g&dicRuT AT, 1882 &hr &RT 46
(c) section 47 of the Transfer of Property Act, 1882/@9f g&ciaxor 3ifafage, 1882 Fr arT 47
(d) none of the above/3URIFd H & &S IgT|

49)Presumption of equity pertains to:/cITI9IEdT T o] HTed EIB RS

(a) section 45 of the Transfer of Property Act, 1882/d9fT 3ieRoT Jrafaas, 1882 &1 4RT 45
(b) section 46 of the Transfer of Property Act, 1882/F4fT 37aRoT 31T, 1882 Fr URT 46
(c) section 47 of the Transfer of Property Act, 1882/@9ftr 3R uT 31TAfAT#, 1882 &1 &IRT 47
(d) section 48 of the Transfer of Property Act, 1882/F4fT 37axoT 31fafT4, 1882 Fr anr 48



50)Where several co-owners of immovable property transfer a share therein without
specifying that the transfer is to take effect on any particular share or shares of the
transfers, the transfer, as among such transferors, takes effect on such share:/STgT TATGT
Ul & g Ag-HAlfoleh 3TH Jg Afese U Tt Ueh REdr 3/aRd #id ¢ o 3axor frar faQy st
T 37AROT o AN IR FITT §IAT &, U 3RO o aiie 30T, UF 9T O JHTAT gYer &

(a) inequally where the shares were equal and where they are unequal proportionally to the
extent of such shares/3rHATT & & STET #1191 SRR & 3R STET I TH A9 ol HAT & 7T &
AT §

(b) equally where the share were equal and where they are unequal proportionately to the
extent of such shares/ T & { STET #1191 SR & 3R ST6T I TH 19N T HAT & 37egardd &
AT §

(c) only (a) is correct/shdeT (T) el §

(d) none of the above/3WRIed H & SIS AT

51)Within the meaning of section 48 of the Transfer of Property Act, 1882, the transfer
cannot prejudice the rights of the transferee by any subsequent dealing with the
property. This self-evident proposition is expressed in/&ufe 37T 31fafaae, 1882 & aRT
48 & 379 & 3TN, IROT HUTe o A1 fohell 8fY aTe & oleTeat GaRT HARC o HTARRT T Ffcieher
HTT =T8T STl Hehcll g | Tg TId: TISC YFATd eI [T AT g

(a) equitable maxim qui prior est tempore potior est jure/~ATIHIT Hhgldd TFd IR SEC CFIARK
GIfeaR 8¢ ST

(b) quid pro co/fFas 9T &r

(c) bona fide transfer/STHTOTeR TATATAROT

(d) none of the above./3WRIFd & & FIS g1 |

52)The provision of improvements made by bona fide holders under defective titles is
dealt in:/QIqUT 2MNhT & TET AR YR GaRT fhT ITT FEURT T JITET $H TR o:

(a) section 50 of the Transfer of Property Act, 1882/&@9f 3dRoT ATATATH, 1882 T &IRT 50
(b) section 51 of the Transfer of Property Act, 1882/84f 37aRoT 314, 1882 hr URT 51
(c) section 53 of the Transfer of Property Act, 1882/@9fT 370t 31f&faa#, 1882 T &IRT 53
(d) none of the above./39RI&d & & HIS AT |

53)A lessee cannot appeal to this section 51 of the Transfer of Property Act, 1882. The
statement is/Ush TeeeR HUR 3cRoT 3ifafaTe, 1882 FI 58 URT 51 & el 3rder 57T T
Gehdl &

(a) true/dd

(b) false/sio

(c) partly true/3TRIF TT I TT &

(d) none of the above./3TRIed & & HIS g |

54)A trespasser is not a transferee within the meaning of section 51 of the Transfer of
Property Act, 1882 and he is not entitled to compensation for improvements. This was

decided in:/Eafy 3/aXoT 31fAATH, 1882 Fr URT 51 F 372 & 37aeTa v 3fAwelt 3R A& &
3R T8 GUR & [T H3Tasl o1 gehaR =61 o | SHH Ig Aot feram aram:



(a) Daya Ram v. Shyam Sundari, (1965) 1 SCR 231/c3T UH FATH ITH Hafro , (1965) 1 THEIAR
231

(b) Krishan Prasad v. Adyanath Ghatak, AIR 1944 Pat 77/s0T 9HIC Se11H ¢TI U,
TSR 1944 ¥ 77

(c) Bhupendra v. Pyari, (1917) 40 IC 464/$[0g S=TTH ST, (1917) 40 3TSHT 464

(d) none of the above/3uRIed H § FIS T

55) The terms good faith in section 51 of the Transfer of Property Act, 1882 is used in the
light of/Eqfay 37T 3fAIfATA, 1882 T URT 51 H HEHTAT 2sq T FANIT fohdah 3MTelish H farar
ST 8?2

(a) Sale of Goods Act, 1930/ #Tef <1 farshr 31T, 1930

(b) General Clauses Act, 1897/@T#HT-g @3 Jfafags, 1897

(c) Indian Registration Act, 1908/ AR TsiiehoT 3Tf&TIa, 1908

(d) Specific Relief Act, 1963/fafafése gy sifarfras, 1963

56) Section 51 of the Transfer of Property Act, 1882, does not apply to ?/&9fd 3dXor
afT#, 1882 &1 URT 51 fohd IR SI19] g1 BIciT?

(a) court sale/aIc fashr

(b) auction sale/zfreTaT foshr

(c) bid/aTelr

(d) none of the above/3TWRIFd H ¥ HIS g

57)Within the meaning of section 51 of the Transfer of Property Act, 1882, the
transferee:/&af 3701 31T, 1882 Fr &RT 51 & 31 & 3ided, AR

() has lien on land for the value of improvements/gtR & #Hed & foIT 8 T FEUMUSKR &
(b) has no lien on the land for the value of |mprovements/1-T‘EJ1T & eI ¥ T A W FIS
TEUNTAISR 7T &

(c) has condition lien on the land for the value of improvements/&H FER & Hed & T §f& T
TEUNTASR T 21T &

(d) none of the above/3TRIeFd H & IS AT |

58)Section 52 of Transfer of Property Act, 1882 imposes a prohibition on transfer or
otherwise dealing of any property during the pendency of a suit, provided the conditions
laid down in section are satisfied. The statement is:/AqfT 30T 3T, 1882 Fr aRT 52
Tl Fyehed & ifeid Tgot o aTeT el 31 HUTR & 3TeROT AT 3T Sefeet TR Fldser ofamehl 8,
Foref o e 3% e ot ol gt | e &

(a) false/sio

(b) true/a=

(c) partly true/3TIF FT T qT &

(d) none of the above/3TRIeFd H & IS AT

59)Rule of lis pendens is applicable to suits for specific performance of contracts to
transfer immovable property. The statement is:/fore 938 &1 fazeT TamaR Ui & 3doT &%
3regset & faflrse yeeler & el TR S Bl 8| U &:

(a) true/dd




(b) false/sio
(c) partly true/37I% TT JF TT &
(d) none of the above./3TRIad & & HIS AT |

60)In case of a transfer hit by the doctrine of lis pendens, the question of good faith
which is essential to be established before an equitable relief can be granted in favour of
a subsequent vendee under sections 41 or 51 of the Transfer of Property Act, 1882 is:/
fora 938 & faquia & ya1fad 3avor & AT #, Hufy 3axor 3ifafaga, 1882 & ey 41 A1 51 &
dgd J1G & fashdT & 98T H ~ATIHTd Jgd Yald lel 8 Ugel HEHTAAT ol 92T TATTAT fham STrear
3HTILTH g

(a) relevant/gHarc

(b) partly relevant/37fRTh &9 & F&HIT

(c) totally irrelevant/g¥ oRe & GHaTdl

(d) partly irrelevant./31fIeh 9 & 37891

61)'A’ gives Rs. 500 to ‘B’ on the condition that ‘B’ will marry ‘'C’, daughter of ‘A'. 'C’ dies
on the day of transfer. This transfer is void under which section of the Transfer of
Property Act?/'s", @' &I 500 ®U H AT 9T &1 ¢ fob '@, "' 1 G 91" @ TaTg ham | 3feeior
o feeT a7 T G &1 ST & | TE 30T HETRY 30T i3 hr v &rr & =2 £2

(a) Y¥RT 25/ Section 25

(b) &RT 26/ Section 26

(c) &R 27/ Section 27

(d) &IRT 28/ Section 28

62)FFu 3edror AT 1882 Fir AT T 7 T HiA-8 YR & Tose ¢ foh '™ A &
fafed gt & uet & & aar fea &7 AfART 1= & farer #'2 / From which of the following
Sections of the Transfer of Property Act 1882 it is clear that 'law is in favor of vesting of
interest and against seizing of interest'?

(a) 9RT 27 Ug 28/ Section 27 and 28

(b) &RT 30 T 31/ Section 30 and 31

(c) &TRT 32 T4 33/ Section 32 and 33

(d) YRT 26 T 29/ Section 26 and 29

63)GFITY 3R 0T fafer & el "arsya (deaeer) gy 1 319 §- / Under the Law of
Transfer of Property, the ‘Cyprus' principle means- (Identical)

(a) ST8T I THT &1 / as far as possible

(b) CTITHIT IS ek / almost up to

(c) (a) Ta (b) =t / both (a) and (b)

(d) & @ (a) =T (b) / neither (a) nor (b)

64)FFITT 30T HTATATH T RT 30 & 3T T ReR g3+ [Af¥HA o g, o qfdeh a8 |
38T1-/ Under Section 30 of the Transfer of Property Act, if the ulterior disposition is not
valid, then on the prior disposition,

(a) T37T@ 93917 / will have an effect



(b) T8TT =TT 9391 / will not affect
(c) 37ereT: I8TTa U331 / will be partially affected
(d) ST & Tader WX AR a9 / will depend on the discretion of the court

65)HF T e 0T HTAfTH, 1882 T URT 12 F8T o] T&1 G191 S1g1- / Section 12 of the Transfer
of Property Act, 1882 shall not apply where-?

(a) Wﬁwmgm% / The transfer is by sale

(b) 3TedROT TeT CaRT 334T’6"/ transfer is by donation

(c) 3=aroT RAfFT ZART §3T & / the transfer is by exchange

(d) 3107 Y ARl €3-1T°’5“/The transfer is by lease

66) HFITT 3w oT HTRATAIH & 3ecrea "$ifA 7 Afase st afFAfard i a1$ § aRe s 7 / Under
the Transfer of Property Act, the things 'contained in the land' have been included in the
definition-

(a) TUTGX FFIRT T / immovable property

(b) T TUTEX HFATR & / Tangible immovable property

(c) 31‘@!?:\'?1 &I / attached to the earth

(d) WFWW@/ Intangible immovable property

67)TFITRT 30T AT, 1882 o 37EN 'S eI TFd” AseTdell H AFHToId Tel o-/ The term
'living person’ under the Transfer of Property Act, 1882 does not include-

(a) =T / Company

(b) |31 () / association

(c) eafeaar &1 fe / body of individuals

(d) #fel /1dol

68)laT-TT I T =R T T Fehcll 52 / Which property can be transferred?

(a) GeT: Far <1 JEHR / Right to re-entry

(b) SR 9 / Public Office

(c) fordlt #ft g hr wFafy Ife; fafer gant afSia 1 &1/ any kind of property unless barred by law
(d) 92reT / Pension

69)TFu T 3fedRoT ATATATH ST &RT 6 H fohisl 3UdTET &7 3eoi@ &2 / How many exceptions are
mentioned in Section 6 of the Transfer of Property Act?

(a) 11

(b) 9
(c)10
(d)8

70) Fufd 3icRoT AT S URT 7 & AR, T IcROT i & T i HeTd g2/According
to Section 7 of the Transfer of Property Act, who is competent to transfer property?

a) g 3 TTFT ST HeTaeT el H HETH g1 TUT GEATRUNT YTl T geheR &TI/Any person
competent to contract and entitled to transferable property.

b) hael YT T HATfeleh/Only the owner of the property




c) shael HUfel &1 TQTHT, ST ofeh fob shlefel G@RT 3T =1 &11/Only the owner of the property,
unless authorized by law.

d) 1S &t AT, TTE SHhT Hlefall &THT AT FQTiAcd ITRR e 81 8/ Any person, irrespective of

their legal capacity or ownership rights.

Answer key

1-b



2-c

3-a

4-a

5-c

6-c

7-a

8-c

9-b

10-d
11-b
12-c
13-b
14-c
15-a
16-c
17-d
18-d
19-d
20-b
21-c
22-b
23-b
24-d
25-c
26-b
27-b
28-c
29-a
30-b
31-c
32-b
33-b
34-c
35-a
36-d
37-b
38-d
39-a
40-d
41-d
42-c
43-b
44-c
45-b






